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GENERAL INSTRUCTIONS TO CANDIDATES 
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tttR11T 'i 1 1, iui .-cq cri .-icbci - (M IN) 

Please look at the Question Code on the top of the Question sheet given to you and write it on the top Right hand 
corner of Answer sheet within the brackets provided, For example QUESTION CODE- (M / N) 

1. 1OOr*Tr 1c.1il 

2. cFdjcb3-fl 

3. -)cp cr&   ficq l 31iUch tI  fcbc41 c1c1I ii 3t  t1 

4icN-  t fcP ctc-fl 1tI iUi I1 F[t ¶1ct)cq '' 1b I' t ' c crT +iu 

-cN14I' 'ftcb.l 

4 3{rtr ,  Gfl'( .5d c1c1I tliçl j( cll 

5. .5rR iIc1 CNG1 1V c'Z1T lcp ii 1)cl T q-i1i CNc cg) 3ErRct1I I 

6. 3-1TtraTtrTrc1IcH rt flcpu i rjjct .i   q j tlII 

iI .5t1' tfl 3PR -i tlTZ1T 1idI r cvc ci ZIT fff cjII 

thr 1 Z!T ~I.-11 1c-, gçflct Ic'1 f~&. , 3r ,5qcb'i 31'-c11cpk 1~b'.ii iiii I 

7. ~b4I dJ.fl 2 5q4'dj !il 

8. cr'rqr bfl tcBc cHIcHcI , 31cy1l 1.-cNu EfF31ildi q d-jjcil iIc-fI 

1. There are 100 questions, all questions are compulsory. 

2. Each question carries one mark. 

3. There are four alternative choices for each question. You have to choose the correct answer from the four alternatives 
and tick it on the box provided in the answer sheet. For example if the correct alternative is B then tick in the box B in 
answer sheet against the question number. 

4. If you want to change the answer once marked then follow the instruction given on the top of the answer sheet. 

5. Blue or black ball pen need to be used for marking the answers. 

6. You are not supposed to write your name or registration number or role number neither in the question sheet nor in 
the answer sheet. If at all it is found that someone has violated and has written something not asked for or has put 
some suspicious mark IsymboI anywhere in the answer sheet that! those answer sheets will be rejected. 

7. Use the space in the question sheet marked for rough work for the purpose of rough. 

8. In case of any dispute in question paper, English version is treated as final 
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crr ftbd/ Question Code - M 

       

 10  12 d4l Si1cCII 3iThC  10ii 12  VfT 1dc1t 1TT cN-çU 

1)
35% . 36% T. 75% tt.50% 

A shopkeeper purchases 12 balloons for Rs.10 and sells them at 10 balloons for Rs,12 Thus he earns a profit for: 

A35% B.36% C.75% 0.50% 

cP 't I 50% fliT 91 1hcfrtI 1TT TT ? 

12°' 10°/ rr 7OI '1. ,JIO '. ,Jo I. ,JIO 

If the radius of a circle is increased by 50%, then the area of the circle is increased by 

A.125% B.100% C.75% 

tr. 50% 

D.50% 

f t1 cJd. ?t C,Id1 cP1 9U ,jjflJ [? 

3) El. 121? L 13fc1 T. 13.5f~ci tT. 13.75fi 

A alone can complete a work in 16 days and B alone in 12 days. Starting with A, they work on alternate days. The total work will be completed 

in 

A. 12 days B. 13 days C. 13.5 days D. 13.75 days 

68 II1c1 I 3TT 269 IIc-  acti i 1? cJ aIGI t671TfiffdNi Ht'I 1dc-1f - 

\_Z JII? 

4) 
. 0 . 3 JT. 2 Ef.1 

A number divided by 68 gives the quotient 269 and remainder zero. If the same number is divided by 67, the remainder is 

A.0 B.3 

 

C.2 0.1 

   

3R t 311 R4T 3T tSI4 31J,L1Id 3:2 34 I4I tff 20 1r. , 3I1RTFI T H.fl 

5) 
qr. 24 cm2 . 48 cm2 11. 72cm2 T. 96 cm2  

If the length and the breadth of a rectangle are in the ratio 3:2 with its perimeter as 20 cm, then the area of the rectangle will be 

A. 24 cm2 B. 48 cm2 C. 72cm2 D. 96 cm2  

ci' kci , 60% iici,ifl ft5TT cNcI , 30% -1lcli IIr ci,ct 3ft 15% cGI"I UcR Cç 

3PTT 96 cdI 5trf1 bd1I cI t3T c1 sftI? 

6) Ei. 20 . 24 T. 26 28 

In a hotel, 60% ha vegetarian lunch while 30% had non-vegetarian lunch and 15% had both types of lunch, If 96 people were present, how 

many did not eat either type of lunch? 

A. 20 B. 24 C. 26 0. 28 

1I ci F 18 )4i 3 14 d.I)C( tfT T 3llTT i 3TT TT iT .1Clcii 

7) 
11. 49cm2 . 154cm2 11. 378cm2 t. 1078cm2  

The area of the largest circle, that can be drawn inside a rectangle with sides 18 cm by 14 cm, is 

A. 49cm2 B. 154cm2 C. 378cm2 D. 1078cm2  

I 

}-M'l 1 G4  1 1Tt 2 Gl IR 3 '[ 3 TT, 1I f C1'JINJ 1dc IT 24 E iII1? 

78 . 136 T. 156 Er. 196 

A clock strikes once at 1 O'clock twice at 2 O'clock thrice 3 O'clock and so, on. How many times will it strikes in 24 hours? 

A.78 B.136 C.156 D.196 

1 50 Idc1i prime 'R 

9)
ir. 8 . 12 21. 15 Er. 10 

The prime numbers between 1 to 50 are: 

A.8 B.12 C.15 0.10 

0.8693 + 0.092 + 0.87 + 0.4 E' d1i1 G'U( 

10) r. 2.3213 . 2.2331 

/ The value of 0.8693 + 0.092 + 0.87 + 0.4 equals: 

A. 2.3213 B. 2.2331 

1f 3.2313 Er. 2.2313 

C. 3.2313 D. 2.2313 
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1485 3Th 4356 1f Erckcp [HCF] 

fr. 189 
11)

HCF of 1485 and 4356 is 

A.189 B.89 

1824,42,63 cd1 f 1d-I 3fPiT TfT [LCM] 

302 /&. 604 

LCM of 18,24,42,63 

A. 302 B.604 

11. 99 Er.83 

C.99 D.83 

T. 504 Er. 404 

C. 504 D. 404 

3 qt Ulti 

3 

EffI 3Thtr?T q-..1i c1I ? 

&. 9 r. 12 EL15 

The average of first five multiples of 31s 

A. 3 6. 9 C. 12 D. 15 

tT 3 1ft E1iT 3tr I q dl -f 27°C 3Th 3TlT 3 ft EiT 29°C 3Tr q cgi 3IthT 28.5°C ; :ft, 3I I 1r 

ET diUdllc-I cI 

14) Efr. 31.5°C f. 10.5°C rr. 21°C EL 42°C 

The average temperature of first 3 days is 27°C & of the next 3 days is 29°C. if the average of whole week is 28.5°C, the temperature of 
last day is 

A. 31.5°C B. 10.5°C C. 21°C D. 42°C 

'i'U) 500 ¶1&.! cifi ET* 5% fIT 6 '1IeI fL T%1RtT ThJ1 ldI ? 

15) 
Eli. Rs.250 . Rs,150 JT. Rs.140 Er. Rs.120 

The simple interest on Rs. 500 for 6 years at 5% per annum is 

A. Rs. 250 B. Rs. 150 C. Rs. 140 D. Rs. 120 

cp tici' t tiftfI 352 3T1 t, 1El'T a49e1 m2 I~t c11I c1I ? 

13) 

16) 
Eff 9856 . 8956 lT. 6589 

The circumference of a circle is 352 metro, then its area in m2  is 

A. 9856 B. 8956 

Er. 5986 

C. 6589 D. 5986 

t t.itCt) T i 3Mtflf 9:1 ?t, àjcb U1JIIL ET 31UIc1 Ibcf -H? 

17)
The ratio of the areas of two squares is 9:1, the ratio of their perimeters is 

. 9:1 . 3:1 T. 3:4 Er. 1:3 

A. 9:1 B. 3:1 C. 3:4 D. 1:3 

  Ct) fbe1'ld,Ud1 31TE1T1 16 tr ft 700 4JIdi 4't Rtd1d cH.lI 

Rs. 11.20 &. Rs. 12.10 T. Rs. 9.80 Er. Rs.11.00 

If the value of the one kg Potato is Rs.16, then the cost of 700 gram is 

A. Rs. 11.20 3. Rs. 12.10 C. Rs. 9.80 D. Rs.11.00 

t!E1 cpkc 20 ftEf1 EIiT cicic-I . ciflr d116 1900  crtc qj c)çlc-I fIT "ilcll ft 3fl1dc1 

2000 31T fl u1 1Erc4Et EI5T c'c1a1 clI 

19)
EII. Rs. 24000 . Rs. 25200 T. Rs. 45600 Er. 

TJ3average salary of 20 workers in an office is Rs. 1900 per month. If the anager salary is added, the average becomes Rs. 2000 per 

\,Anonth. The Manager salary is 

A. Rs. 24000 B. Rs. 25200 C. Rs. 45600 D. None 

10%, 20% 3 40% c11 -<4b c1 iii Ibc-IdI ")dI ? 

50% . 70.28% T. 70% tr. 56.80% 

A discount series of 10%, 20% & 40% is equal to a single discount of 

A. 50% B. 70.28% C. 70% D. 56.80% 
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Ef. Allotted 

Find out the wrongly spelt word 

Zealous . Committee 'T. Souvenior 

Find out the wrongly spelt word 

A. Zealous B. Committee 

Er. that of diesel 

The price of petrol is higher than 

diesel . the diesel T. of diesel 

The price of petrol is higher than 

A. diesel B. the diesel C. of diesel D. that of diesel 

Er. Pity 

The opposite of the word Sympathy' 

/ Eli. Apathy . Pride T. Angry 

The opposite of the word Sympathy' 

A. Apathy B. Pride C. Angry D. Pity 

28)  

B. Anonymous 

. Anonymous 

A study of man 

. Amphibian 

A study of man 

A. Amphibian C. Anthropology 

T. Anthropology 

D. Haematology 

Er. Haematology 

30) 

Somebody who is considerably 

Indispensable 

Somebody who is considerably 

A. Indispensable 

Er. Inimitable Incorrigible 

book on my desk 

. a some Er. None 

book on my desk 

B. a C. some D. None 

There is  

i. an 

There is  

A. an 

You study English 

Used to 

You	 study English 

A. Used to 

T. Another Er. None 

C. Another 

22) 

B. Is used to D. None 

. Is used to 

A speech delivered without any previous preparation 

C. Souvenior D. Allotted 

Study of Environment 

r. Ecology 
29)  

Study of Environment 

A. Ecology 

. Numismatics T. Vegetarian 

B. Numismatics C. Vegetarian 

Er. Penology 

D. Penology 

experienced in something 

. Veteran 

experienced in something 

B. Veteran C. Incorrigible D. Inimitable 
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Er. Exonerate . Extempore L Ethnology 
26)  

A speech delivered without any previous preparation 

B. Ethnology D. Exonerate A. Extempore 

Er. Embezzlement . Edible 
27)  

B. Edible D. Embezzlement 

T. Etymology 

C. Etymology 

rr. Elucidate 

C. Elucidate 

Misappropriation of money 

E1. Egotist 

Misappropriation of money 

A. Egotist 



31)  
T. Quickly Ef, So quickly . So quick 

He ran  

. Quick 

He ran  
A. Quick C. Quickly D. So quickly B. Soquick 

32)  
J1. Through Er. Into 

several medical test 

'. About 

several medical test 
B. About 

The doctor advised him to go 

i. Under 

The doctor advised him to go 

A. Under C. Through D. Into 

T. For Er. Since 
33)  

I have been working hard 

ff. In 

I have been working hard 

A. In C. For D. Since 

last year 

'. From 

last year 

B. From 

JT. With Er. from 
34)  

I shall take revenge you 

. At .On 

I shall take revenge you 

A. At C. With D. from B. On 

T. About Er. Upon 

My first lesson 

Err• /  On 
Q\ / "1 / 

/ My first lesson 
V 

A. On 

forgiveness came from my father 

.ln 

forgiveness came from my father 

B. In C. About D. Upon 

A disease or accident which ends in death? 

ZF. Fatal . Drawn r. Fastidious Er. Illegal 
36)  

A disease or accident which ends in death? 

A, Fatal B. Drawn C. Fastidious D. Illegal 

Synonym of "Conjecture' 

. Grave 
37)  

Synonym of "Conjecture" 

A. Grave 

. Outward T. To Guess Er. To claim 

B. Outward C. To Guess D. To claim 

38)  
F. great Er. scant '. enough 

Antonyms of "abundant" 

ample 

Antonyms of "abundant" 

A. ample B. enough C. great D. scant 

Idioms - "At arm's length" 

. Length of arm 
39)  

Idioms - UAt arm's length" 

A. Length of arm 

. At a distance Er. Very near 

B. Atadistance 

r. Insult 

C. Insult D. Very near 

Pregnable rr. Illogical Er. Garrulous 
40)  

One who talks too much 

. Quite 

One who talks too much 

A. Quite C. Illogical D. Garrulous B. Pregnable 
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'T. 15 t.20 

C. 15 D. 20 

 I~1dcl 3TtTTF 1E Jici1 TE1 ? 

41'''
. 10 

How many ways can a batsman lose his wickets? 

A. 5 B. 10 

43 

1'ic11 cH.11 

. ft i1 

The mineral structure of diamond is 

A. Zinc B. Nickel C. Nitrogen D. Carbon 

T. 1Illc1 

jIttE1t  3flTift 

tH.ld1 . t4I. -9'kI 

Urea supplies  to the plants 

A. Calcium B. Phosphorus 

JT. tfrTh1T -T. cjIlcj 

C. Potassium D. Nitrogen 

44) 

B. Virus 

•. c4,f Ef5 cEfl4I 

What causes cholera? 

A. Bacteria C. Fungus D. Algae 

T1. 1d 

3TT? 

46 
Which of the following is different from others? 

A. Speed B. Time 

T. } 1cc1 

C. Density D. Force 

rr. 9T Uc1d T. bdII 

39  3TT? 

. i'Cki clII4j 

The first atomic power plant was started in India at 
A. Narora B. Tarapur C. Rawat bhata D. Kaiga 

r. tr. 

C. Carbohydrate D. Water 

jcj 
 Et51 ld iRrr ? 

Eli. 11CJI1C1 L 

49) \; 

The chief source of energy is 

A. Vitamin B. Minerals 

D. Chairman of Rajya Sabha 

 iq11 34t 3t jg1 Uc'l E tg t1T ç ft iu11 ctTh( tR  2lI1 -G1 C1tG-1 cl'kH cNc-lI 

3TczraT . 1T. 3f 

50)  
In case the posts of President and Vice-President lie vacant, who officiates as the President? 

A. Speaker of the Lok B. Chief Justice of India C. Attorney General of 
Sabha India 

. Kerala L Gujarat 

Which of the following states of India has the longest coastline? 

A. Kerala B. Gujarat 

T. Tamil Nadu ET. Andhra Pradesh 

C. Tamil Nadu D. Andhra Pradesh 

ii Ti ct*LI cH4 T -1cl)çjt 

f'x 31Tt3 rr IJ 3-1Tt 't tc ZIT cè..,i Et f   jqcu FT ? 

JT IIcJ ET. 3Id1c 

47) 

A device used to stabilise the voltage supplied by electric supply station is 

A. Dynamo B. Generator C. Transformer D. Ammeter 

Page 6 of 12 



The whole structure of the world is regulated by 

A. Magnec force B. Gravitational force 

Z T4cjl t ZFZII ¶11cI cIc1i 

51)
dçCU Ici  r. cI'ci i tr. ia 

C. Electric force D. None of these 

oft Ytt 3 3P1T {s1lci 1TT j1 3rr ? 
1 1bC .31Tht cj1c4jic . S1c.c1 3 t JT. 1C 3ft c1 Er. 1bC 3 EfIt 

Ranji Trophy and Aga Khan Cup are associated with 

A. Cricket and B, Badminton and C. Cricket and Football D. Cricket and Hockey 

 Volleyball Hockey —  

ai'c ffTT ctt1'k1I cl ',IL11t 1* ci'lcN1lT E4t 4i cNc F 3ffR ?ii ? 

53) 
82 . 31ctik 84 1T. 85 Er. 90 

Which Article in the Indian Constitution empowers the President to dissolve the Lok Sabha? 

A. Article 82 B. Article 84 C. Article 85 D. Article 90 

1TT cp'kj ? 

. d1I F . t tTEr.  C 

54)  

t T. Er. t 

 

 

Chief Justice of Supreme Court is 
A. Shri Rajendra Mal 

Lodha 
B. Shri H. L. Dattu C. Shri T. S. Thakur 

D. Shri Jagdish Singh 
Khehar 

dTh1c1 FFlTT1 1cti. aI cttcl ? 

ldId crrr . f UctIT ,lIcN 

55) 

T. t tfzf. ic 4s1 Er. 1icb( [1T 

Minister for Human Resource Development is 

A. Shri Jagat Prakash B. Shri Prakash C. Shri DV. Sadananda D. Shri Ravi Shankar 
Nadda Javadekar Gowda Prasad 

I i i-ii,ft hciei JUI 1 Ct'(IG1 1I4 ?.c1I 51c1l cl- lI èifrll 1Ic1I 

Zj • 1I'q{ . cP14 JT. q,'1)cii Er. Tt 4P?t 1?i 

56)  
The part of the sun, which is visible during eclipse only, is known as 

A. Photosphere B. Chromosphere C. Corona 
D. All the parts are visible with 

aye  

   

ZfiI Id U.ct' cH.j 

. fii cpIi . Mi.ui 3Ic-'t1I 3 JT. 3ThJ'IIlcl c1d11c1 Er. 14d-f CPIE1G. 3ftT 

57) 31J1'I1kaI C -c)(IS 

The major constituent of pearl is 

A. Calcium Carbonate
B. Calcium Oxide & D. Calcium Carbonate & 

ammonium Chloride
C. Organic mass 

Silica 

cp'cI Pti tI c{)cP1l1 ? 

58) 
&. )c'iè 

Which is popular as the white city 

A. New York B. Belgrade 

     

JT. 

 

Er. cbc.icdI 

 

  

 

C. Bangalore D. Calcutta 

5T dI' qtci W 

59)  
Which is the morning star 

A. Pluto B. Venus 

'T. gi Er. q1 c) 

C. Neptune D. None 

   

ZN Er1 c-i 

60) 
El. G.3èc1 . 4IiJ ñ?t3cF*iiS T. MT Er. 3-iC1I,C1 

The main constituent of Gobar gas is 

A. Butane B. Carbon Vonoxide C. Methane D. Octane 
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Lc.t11 ci'(cJul T1 319 )c1I ? 

61)
. *11 . ctci JT. Ji Er. ur 

Speed of sound waves is maximum in 

A. Solids B. Liquids C. Gases D. Vacuum 

62) 
l5 . 'T. Jd 

Which of the following game played for stipulated period of 70 minutes 

A. Hockey B. Football C. Rugby 

Er. i*ii 

D. Basket ball 

        

        

63) 
. tñft T. Er. 1i 

Murugappa gold cup is associated with 

A. Football B. Polo C. Hockey D. Bridge 

'i) c iT 3iLc dlc. c1c-1 Rl'dcli "1dr ? 

64) 
Err. 5.20 Oz . 6.30 Oz T. 8.25 Oz Er. 7.20 Oz 

The approximate weight of cricket ball is 

,A. 5.200z B. 6.300z C. 8.25 Oz D. 7.20 Oz 

'ñ 1R" c TtT1T E I3 aft? 

Err. 1910 . 1905 T. 1901 Er. 1911 

In which of the following year "Nobel Prizes" were instituted 

A. 1910 B. 1905 C. 1901 D. 1911 

4't. Ef. '(dlc-1 ctki flT 1Ic"{ ñT[ -ck. U  fzlT? 

66) 
Ef 1934 -. 1931 1932 Er. 1930 

ri C. V. Raman received Nobel Prize in the year 

A. 1934 B. 1931 C. 1932 0. 1930 

31'I-'N t-c 1i -11d ? 

67) 
Efr•  1 -di'  

Oscar award is related to 

A. Films 

'I)iC41l 

    

Er. k-c1c' rr 

   

B. Politics 

 

C. European Community D. Books 

India Wins Freedom" fZT f1T 2U? 

rrr cH'kltcjj 3f CbC1d1 . 3TY)I'(1I TT T. Gkt'Y1) ODUOIIOBDDDODEU 

68)  

"India Wins Freedom" was written by 

A. Moulana Abdul Kalam
B. Ashfaqulla Khan 

Azad  
C. Dada bhai Navroji D. Sarojini Naidu 

"jtIc-" ¶ T21T? 

E • 3TR i -fl.J1UI . 3-1T r. fr9 1d1 Er. C3I 

69) 

"Panchatantra" was written by 

A. R. K. Narayan B. R. K. Laxman C. Vishnu Sharma D. None 

*1 Iic T. Er. ( 

70) 
The currencies has the highest value in terms of Rupees 

A. Dollar B. Saudi Rial C. Pound D. Euro 
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c1 Z5tT1r 3TtM 5tf3r 1ac c1.-c IT tZT c  TTt ? 

71)  
Which company does not deal with consumer durables 

A. Samsung B. Akai C. Godrej D, Nestle 
I

PARAM-1000 tR cl)L.l fr  fcR4ci fff  

- DoT . CDAC T. fc 1IflJT 

72) PARAM-1 000 super computer was developed by 

A. DoT B. CDAC 
C. Department of 

Electronics 
D. None 

ccuI  3TcT 3ft crrT fE1r C1'tC-I ? 

t . TF ?t 'U1t 'Ud-I r. t 3T'.T-t c-Nk.IUI Er. 't 

 

 

73) The first Chairman & Managing Director of Konkan Railway 

A. Shri. E. Sreedharan B. Shri. Rajaram C. Shri. Ashwath Narayan 
D. Shri . Bhanuprakash 

Tayal  

    

C!C1UI .c1c) ,ldj l-J,ci cfl *ii hci4'1 ? 

179 . 159 T. 189 Er. 199 

Total number of Major bridges in Konkan Railway 

A. 179 B. 159 C. 189 D. 199 

cTq ll TTtrT fT? 

•   act) El. a-IRd 

75) India's first ATM launched at Kerala by 

A. Canara Bank B. Corporation bank C. HDFC Bank D. State Bank of India 

II'jiH. 15T d-jdc'1 cl- 4l dI ? 

76) 
El. 3ff t j j r. rii tr. Iia I1I( 

Capital Market means 

A. Mutual funds B. Money Market C. Direct Taxes D. Securities Market 

i4i Ctg-fl  3tT c1 1T Elk tITff ¶T k1I 2T? 

77) 
Zf 1947 . 1948 rr. 1949 Er. 1950 

Banking companies Act was passed in the year 

A. 1947 B. 1948 C. 1949 D. 1950 

"BHIM" T ¶ -c1I. tf  ci- 1i 

,w' Bharat Interface for . Bharat Human Interface rr. Bharat Interact for Money zr. Bhimrao Interface for 

Money Money Money 

"BHIM" stands for 

A. Bharat Interface B. Bharat Human C. Bharat Interact for D. Bhimrao Interface for 
for Money Interface Money Money Money  

1F CP'tcl IT UI- EI5T cicB 

79) 
. 3TTlT 

Which of the following substance has bitter taste 

A. Milk B. Amla C. Soup solution D. Salt solution 

cp (Vinegar)  1TfRR ? 

El. 10-20% 11èc . 10% fR.ct 'T. 6-10%  tJf113 El. 100% cl tf 

80) cs 

Vinegar contains 

A. 10-20% acetic acid B. 10% acetic acid C. 6-10% acetic acid D. 100% acetic acid 



Er. .isii 

c-4 T t4T I1d1 Z1Er q  T rrf 3TTUT acti ? 

81) 
"3I'l . c- T. 'fl 

Newton's first law of motion gives the concept of 

A. Energy B. Work 

82)  

5it cicii 'lTr T i q m-n 1iJ 

41'1' L ci't't1o1l 

t 

The leader who is known as The Grand old man of India' 

A. Sardar Vallabhai B. Dadabai Naoroji 
Patel

1 

T. 4IclI'.T iTccl,  

C. Balgangadhar Tilak 

ti. l)Q lI" C) 

D. Bipin Chandrapal 

C. Momentum D. Inertia 

.PSLV-C37 1Ef id ddi óI'U ft .Sici 1T1T ? 

Eli. 103.. . 104 T. 105 Er. 106 

PSLV-C37 Successfully Launche number of satellites in a Single Flight 

A. 103 B. 104 C. 105 0. 106 

UiI*c1ic-l) ii.-iI1cp E1dTh. F12V'El JAII i ¶ cj 1i.(cfl .l-ii '11cpç TRt' ET 3I1c-i c  fT? 

84)	
27/10/2016 . 29/09/2016 rr. 29/10/2016 Er. 27/09/2016 

Indian army conducted "surgical strikes" against suspected militants in Pakistani-administered Kashmir on 

A. 27/10/2016 B. 29/09/2016 C. 29/10/2016 D. 27/09/2016 

-cu  'tflci fv 1.c1 ,iuI . 

.i'l 1d1 

An example for non-renewable source of energy 

A. Solar energy B. Petroleum  

d-iIId .I -dic1'I cU TE1 Gif 1 -cfld1 ? 

86) Eli. 3i'k-ji . TMf 

Which one is the largest among the following deserts? 

A. Australian B. Gobi 

T. G1l4'tcHht 

C. Iliomass 

Er. 'iicI 

D. Water power 

T. cicJi. 

C. Kalahari 

Er. 3ldlcpldli 

D. Atacama 

1p (31REt3-u) d  1c 'JRk ctld 3IEllFt 1rzrr? 

87) 
Efl•  3ff . f T9T21T JT. GflL) C)c-fddJ) Er. t FT 311T 

Who has recently taken charge as new Deputy Governor of the Reserve Bank of India (RBI)? 

A. Ashwani Kumar B. N S Vishwanathan C. BP Kanungo D. I S Ahuja 

.kr.Li '1c*( qif1cbl 1cfl3f Ell 311cfl,d çr?Tr ci'cl 1iv "-GidIUt1icpI' tr c1cti tIZTF ? 

Efi . irZr Ur 'T. Er. .5r1 UT 

Which state government has launched "e-nagarpalika" app to provide municipal services online? 

A. Jharkhand B. Madhya Pradesh C. Bihar D. Uttar Pradesh 

Ef I'd1S. c4c- c- difl 

89)	
r. ffmi 

Who has become the India's first-ever transgender police Sub-Inspector? 

A. Deepthi Sunaina B. Smithi Saran C. Prithika Yashini 

Er. 

 

D. Nandini Kumani 

88)  

90) 

tift cH1c'1I IT (flLfl)  CP'kf 11Q,th 31T? 

Eli. Icfl . 1IfI 1TT T. 9T Er. 

Who has been appointed as the first woman Director General of Police (DGP) at Gujarat? 

A. Nikita B. Nidhi Mathur C. Geeta John 

GI 3RRii 

0. Neha Arusia 
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 ¶,a14C 1,cii*i 1J  

91) 
 is an example for input device 

A. Printer B. Scanner  

T. d1l;k El. -cN 

C. Monitor D. Speaker 

URLiTtrtr 

r. Uniform Resource i. Uniform Resource Link rr. Uniform Registered Link El. Unified Resource Link 

Locator 

Full form of URL is 

A. Uniform Resource B. Uniform Resource C. Uniform Registered 
D. Unified Resource Link 

Locator Link Link 

1Icl)1I c1cd1i1 jT 1T cpjcl  31F (.fl3ft) C1'tG1 ? 

93) •

.  1r4 . T1Z icl1 T. fc 'tç'k1 El. rzr c-III 

Who is the current Chief Executive Officer (CEO) of Microsoft 

A. Sundar Pichai B. Mark Zuckerberg C. Bill Gates D. Satya Nadella 

Zf ? 

94) 
EIr. 14 28 

How many states are there in India? 

A,14 B.28 

T. 26 EL29 

C.26 D.29 

31TI . frFt cli .c'C1 c1ic CtC1 1T 

95)	
W. cççjd.j T. .sldI'-J,'& El. d-iS"Iicl 

Which is the longest Railway platform in India? 

A. Gorakhpur B. Kollam C. Kharagpur D. Madgaon 

l'ldI fFT c1l cHc1i'U 'lIc1i 

96) 
r. 22 July . 21 August 

International Yoga Day celebrated on 

A. 22 July B. 21 August 

JT. 21 June El. 22 May 

C. 21 June D.22May 

97) 

• 16th April 1853 1. 17April 1851 T. 6th  April 1853 El. 16th  April 1854 

First train started in India 

A. 16th April 1853 B. 17th  April 1851 C. 6th  April 1853 D. 16th April 1854 

1 t11  t[ -( f~F;f[ c  frr? 

98'
-fiii 151 . g ii. cpij rr El. -I1I cIct 

Name the person who has won the Padma Shri award this year? 

A. Sania Mirza B. Dr. Bhakti Yadav C. Kamal Hassan D. Sachin Tendulkar 

99) 

3T11 tE T F"-lc1 

m 1zrr TF ti 

Select the odd one 

A. Jeevan Raksha 
Padak 

&. t[ (Th. tç 

B. Param Veer Chakra 

JT. tIT 3UT El. 3TT 

C. Padma Bhushal D. Bharat Ratna 

zi r llc1  

100) 
' Select the odd one 

• A. Kingfisher 

. k. 

  

JT. 't El. 

  

    

B. Jet Airways C. Air India D. Tejas 
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4 

Question paper for Assistant Loco Pilot (ALP) in 7th CP 'ay atrix Level 2(6th CPC 
Grade Pay Rs19OOI-) in Mechanical Department 

dfi1 t -Tr 
GENERAL INSTRUCTIONS TO CANDIDATES 

cg 3.gc iT 1I I Z1I 3w]d t1V.5d( tr 13-fldlc)' 

T1lT -U ZT4 óI&Ui '-cHq PT bi - (M/N) 

Please look at the Question Code on the top of the Question sheet given to you and write it on the top Right hand 
corner of Answer sheet within the brackets provided, For example QUESTION CODE- (M I N) 

1.  

2. ccP3-IE1I 

3. 4ç-cP ci   1ci l ód rc-Ic1I ir 3fr zi'( 

GllC1 t i cfl TI  1IV * cçq '' ; . cl crdT 11 

1l-c. Gflc ' -lt I' ' ft cp I 

4.  31Tttt.ct dR Iijc1.5d4. dcec1I fttRi?Y V ñ1iT4Iic1 1l 

5. .3d 11c-f cb'.c1 i  fV 1T d1le 1c1 ToiJI  c) 3ctc1I I 

6. T3 1 c1l tiiii 

ód'. t 3-PJR 14I 1Ic1I cdI'l & ç'4cj rr fi c1,1I4I 

tflyf 1u1 Z1T 'ii'-ii Ud'Icb Ic1 faL. , 5T .5d q1ct1 31,t-cflcbl'( 1b.ii 1It.dII I 

7. i1IL '-Ld 1bi Ni 2l1T5T 1I ctl 

8. PTtf 111 J1 ic dlld-1c1 , 31d)yfl -cp4OI t3-iId1 .'q d-IIc1I %,1Ic1 

I There are 100 questions, all questions are compulsory. 

2. Each question carries one mark. 

3. There are four alternative choices for each question. You have to choose the correct answer from the four alternatives 
and tick it on the box provided in the answer sheet. For example if the correct alternative is B then ck in the box B in 
answer sheet against the question number. 

4. If you want to change the answer once marked then follow the instruction given on the top of the answer sheet. 

5. Blue or black ball pen need to be used for marking the answers. 

6. You are not supposed to write your name or registration number or role number neither in the question sheet nor in 
the answer sheet. If at all it is found that someone has violated and has written something not asked for or has put 
some suspicious mark /symbol anywhere in the answer sheet that I those answer sheets will be rejected. 

7. Use the space in the question sheet marked for rough work for the purpose of rough. 

8. In case of any dispute in question paper, English version is treated as final 
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tZTr 'f Ic1I c -4J II1ci cfjj 

JcCflC1)Uj 4ç rr. 12t 
1)

• 

The whole structure of the world is regulated by 

A. Magnetic force B. Gravitational force C. Electric force 

Er. c1d3 

D. None of these 

D. Cricket and Hockey 

Er. 90 

D. Article 90 

9) 

T CU'tl ct't'i RT ? 

Zi. L  

Which is the morning star 

A. Pluto B. Venus C. Neptune 

B. Chromosphere C. Corona A Photosphere 

tt M Ud  ETl c -1l 

Moi c4I6ick. . *11d1 31Icl,t1 3Th JT. 3141c,  

3rfrzraT ctL 7)  

C. Organic mass 
B. Calcium Oxide & 

ammonium Chloride 

The major constituent of pearl is 

A. Calcium Carbonate 

8)  

B. Belgrade 

•. tc'i' . c4l. 

Which is popular as the white city 

A. New York 

I't 't tf 'tcPIt4 ? 

T. }c'l't( 

C. Bangalore 

E& tI.cJ c4[ ? 

10) .
r. rr cH-It i. 

The main constituent of Gobar gas is 

A. Butane B. Carbon Monoxide C. Methane 

Er *fr  

1GN 

D. Calcium Carbonate & 
Silica 

Er. cci 

D. Calcutta 

Er. 

D. None 

Er. 31cPc.Jc1 

D. Octane 
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D. All the parts are visible with 
naked aye  

P'T 1c-iI Question Code - N 

c11 ct TETT Ct;td ? 

. d-flc fT?T . .t l. c'1. rf 
4) Chief Justice of Supreme Court is 

A. Shri Rajendra Mal 
Lodha

B. Shri H. L. Dattu 

ur5t tt 3 31TT &flci c1 t 31T ? 

. SC 3T Icflcj . SI-1c.c1 3I t 31. 1DC 3ft 1lci 

Ranji Trophy and Aga Khan Cup are associated with 

A. Cricket and B. Badminton and C. Cricket and Football 
Volleyball Hockey  

R44 4  '&I1I ft ccaTr cl T cNcl F 3TfZlr{ acir ? 

. 82 / L 84 F. cjE 85 

\Tch Article in the Indian Constitution empowers the President to dissolve the Lok Sabha? 
A. Article 82 B. Article 84 C. Article 85 

C. Shri I S. Thakur
D. SM Jagdish Singh 

Khehar 

d1C thwr IcN*i d1  11c1 ? 

• 'r iJiçf wir c1 . t cpr  r. cfri  "itl Er.   icp  crn 

5)  
Minister for Human Resource Development is 

A. Shri Jagat Prakash B. Shri Prakash C. Shri D.V. Sadananda D. Shri Ravi Shankar 
Nadda Javadekar Gowda Prasad 

15T T -th,5 c'hcic' )°T 1 'tii 1I acii cHfl dllciI 1IdT ? 

. . ç t r. qj  / Er. T4t anvtt 1ii3 adl 
6)  

The part of the sun, which is visible during eclipse only, is known as 

     



16)
1934 

ri C. V. Raman rece 
p

A. 1934 / 

"ñ T ffl1 9T T 

15) 
Z. 1910 . 1905 T. 1901 / El. 1911 

In which of the following year "Nobel Prizes" were instituted / 

A. 1910 B. 1905 C. 1901 0. 1911 

. Zt 'Mc1 CtG1 lT 'Wc"l 1IW , cPl' Tt lh'fl? 

T. 1932 El. 1930 . 1931 

ved Nobel Prize in the year 

B. 1931 C. 1932 D. 1930 

- 1t ci i'l 41 TTft 3E fi d I 

11) 
Z. {(1lS . cH.c 

Speed of sound waves is maximum in 

• A. Solids B. Liquids C. Gases 

12) 

• '. 4l T. '(dGfl 

Which of the following game played for spulated period of 70 minutes 

A. Hockey B. Football C. Rugby 

iu.ii ,?.1'lG: 1 .1'5tt TT ctici IT '&c sF 31T ? 

13) 
L 

Murugappa gold cup is associated with 
A. Football B. Polo 

r. T. Ii'H'l 

C. Hockey 0. Bridge 

D. Vacuum, 

1. i'bilc'j 

0. Basket ball 

14) 

4  T 311id 111 I~bcicll dciI ? 

ZIT. 5.20 Oz 1. 6.30 Oz 

The approximate weight of cricket ball is ,-" 

A. 5.20 Oz B. 6.30 Oz 

JT. 8.25 Oz El. 7.20 Oz 

C. 8.25 Oz D. 7.20 Oz 

k- -clI'. fiir *11ci ? 

17) 

. ii4'I1 

Oscar award is related to 

A. Films B. PoIics  

"India Wins Freedom" fT fI11T QTr? 

¶. a1'klkll 3TT cPcIId-I . 3T4Ic"iI sflcj 

18) 3TT 

"India Wins Freedom" was written by 
A. Moulana Abdul Kalam 

Azad
B. Ashfaqulla Khan 

rT. &fli ii' El. ci4' 

C. European Community D. Books 

r. rrn$ 4.'k1 EI. '1(flIcfl c11'1 

C. Dada bhai Navroji 0. Sarojini Naidu 

19)  

"lç(" f5r fni U? 
/7-

31R 1Vt 

"Panchatantra" was written by 

A. R. K Narayan B. R K. Laxman 

T. ¶uj
,,

/ Er. q)3 aft r 

C. Vishnu Sharma 0. None 

d3t1Id-Iccttc1 tdcI 

1c 1ITF 
20)  

The currencies has the highest value in terms of Rupees 

A. Dollar B. Saudi Rial // C. Pound D. Euro 
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r. f1TT ET. c4 G1 

C. Department of 
Electronics 

D. None 

qfz5TtrT i? 

21) 
J5/_ . 

India's first ATM launched at Kerala by 

A. Canara Bank B. Corporaon bank 

1ili'( t5T eiçlgq R1T c1 ? 

22) Capital Market means 

T. a-3W 

A. Mutual funds B. Money Market 

T. i4') 

C. HDFC Bank 

7r. zr zi 

'C. Direct Taxes 

1I'(c4l f 

D. State Bank of India 

Er. iiii' 

D. Securities Market 

q"k41 Z1itI 3111 5tf  I~.cPI Cl'(-çjj.! TTT i'tci a1  CNd) ? 

21) :/ 3Tz1 rzr L ulc,i t. c-ç 

Which company does not deal with consumer durables 

A. Samsung B. Akai C. Godrej D. Nesfie 

PARAM-1000 Ij,H. c-3'. fb'H T i'U 1cthi bB T1T? 

. DoT . CDAC 
22) PARAM-1 000 super computer was developed by 

A. DoT B. CDAC 

23)  

 U  31tZT 3 tT c,1c1 ? 

j. .u'1I ir rr. Er. r cMc4iT çjI.qQ 

The first Chairman & Managing Director of Konkan Railway 

A. Shri. E. C. Shri. Ashwath D. Shri. Bhanuprakash 
B. Shri . Rajaram

Narayan Tayal Sreedharan  

24)  

cp'qu ) ei *i'sii R,i4l ? 

. 179 . 159 

Total number of Major bridges in Konkan Railway 

A. 179 B. 159 

r. 189 Er. 199 

C. 189 D. 199 

25)  

 31fW tTft fr TZIT 211? 

. 1947 . 1948 T. 1949 ET. 1950 

Banking companies Act was passed in the year 

A. 1947k B. 1948 C. 1949 D. 1950 
UBHlMflT R -c1i( tr ZFZrr ? 

. Bharat Interface for . Bharat Human Interface r. Bharat Interact for Money Er. Bhimrao Interface for 

26) Money Money Money 
UBHIM stands for 

A. Bharat Interface B. Bharat Human C. Bharat Interact for D. Bhimrao Interface for 
for Money Interface Money Money Money  

ft f   rr qr rir cir 

27) ?T. tt Er. çU E 

Which of the following substance has bitter taste 

A. Milk B. Amla C. Soup solution D. Salt soIuon 

Ncri (Vinegar) ZRIT ii1k ? 

. 10-20% 11acj, . 10% 1I~ci 1,!15 T. 6-10% i1cp iftf/ . 100% 131Cf' l.fj5 

28)  

Vinegar contains 

A. 10-20% acetic acid B. 10%acecacid C. 6-10% acetic acid 0. 100% acetic acid 
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31) 

cc1 T t 11d1 T CP1G1 fl djf  3-1ZlRUU acti ? 

Zl jj . CPIcH 

Newton's first law of moon gives the concept of 

A. Energy B. Work 

 

tt. '1cif 

 

C. Momentum D. Inertia 

       

       

c ç11 1T T tT1T I 31Tt$ tt sII'1I '1Ic1I 

z. '1'Cj'& F331T . icit dlfl iiioi ik tr. 1ksci, 

32)  
The leader who is known as The Grand old man of India' 

A. Sardar Vallabhai B. Dadabai Naoroji C. Balgangadhar Tilak 0. Bipin Chandrapal 
 Patel  

PSLV-C37 ti  *4wtcBLcP lc1G1I ici 1ii ? 

. 103.7 . 104.c T. 105 tl. 106 

33) PSLV-C37 Successfully Launche number of satellites in a Single Flight 

A. 103 B. 104 C. 105 D. 106 

1Z*dc-1) i*i1i' T11 1C'I9) f(1 'cfl * "*i1q' .d1eil" Z1F 31,ic1 Zj5 1ii? 

'34)
• 27/10/2016 . 29/09/2016 T. 29/10/2016 . 27/09/2016 

Indian army conducted 11surgical strikes" against suspected militants in Pakistani-administered Kashmir on 

A. 27/10/2016' B. 29/09/2016 C._ 29/10/2016 D. 27/09/2016 

i -c.4cuj ic-f 1l iui 

35) 
• ;:jft  114d1 T. iiloii'i 

An example for non-renewable source of energy 

A. Solar energy B. Petroleum C. Biomass 

1IICi 1 -c1lc11 CttII 1'M*1 1J 11' -c1lc1 7 

36) Which one is the largest among the following deserts?

T. qj' 

A. Australian B. Gobi C. Kalahari 

T. if 

0. Water power 

t. 311icn1eu 

D. Atacama 

1I'cfl1 ftr  (3flr3T1) r CP'tG1 3Tft fii? 
. 31f . t v iii. 4'4 cpjcj) t. tr t1 3TlT 

Who has recently taken charge as new Deputy Governor of the Reserve Bank of India (RBI)? 

A. Ashwani  Kumar B.  N S Vishwanathan C. BP Kanungo 0. T S Ahuja 

1b'i TT '1''P1'( G1)I ii1cp 'ciJ3 Z 31 1(3J1 c f "-1dJ iI1C4,I tr iGtJ 1ii ? 

i.  L rtzr tr r. 1i r. 

Which state government has launched "e-nagarpalika" app to provide municipal services online? 

A. Jharkhand B. Madhya Pradesh C. Bihar 0. Uttar Pradesh 

aiir T trt 1*i --ic c1'tci 1 TZT ? 

il'. ltr4t jii . fai1 '1'c1 T. f1i 1fT4 
39) Who has become the India's first-ever transgender police Sub-Inspector? 

t. afl oii'fl. 

A. Deepthi Sunaina B. Smithi Saran C. Prithika Yashini 0. Nandini Kumari 

37)  

38)  

dyHIçf tT4 d11.cI i11TE1i (i)  CPlc1 1t' 31T? 

40)
Who has been appointed as the first woman Director General of Police (DGP) at Gujarat? 

. 11bI . f1T rr- i. 'rt 1 3i1it 

A. Nikita B. Nidhi Mathur C. Geeta John D. Neha Arusia 
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 c1tl ccni ICl) 

41) 
 is an example for input device 

A. Printer B. Scanner C. Monitor D. Speaker 

JT. 11k 

C. Kamal Hassan 

rgft -ct,i& lb.i zfr fi? 

. . r. q'ai ii 

Name the person who has won the Padma Shri award this year? 

A. Sania Mirza B. Dr. Bhakti Yadav 

49) 

3r5ftr tEEi r 1lci 

. flcjci TT 

Select the odd one 
A. Jeevan Raksha 

Padak 

URL r qr tr 

. Uniform Resource Uniform Resource Link 'rr. Uniform Registered Link Er. Unified Resource Link 

Locator 
Full form of URL is 

A. Uniform Resource B. Uniform Resource C. Uniform Registered
D. Unified Resource Link 

Locator Link Link 
C1C1iG1 1iT JZT ci*ci,it1 31fWT (fl331't)  ci,'tci ? 

. . ,t $. . aiic iqi — 'r. fci 1ci Er. iT ciicr 

Who is the current Chief Executive Officer (CEO) of Microsoft 
A. Sundar Pichai B, Mark Zuckerberg C. Bill Gates D. Satya Nadella 

1T 1cicl tE5t  ? 

. 14 

How many states are there in India? 

A.14 8.28 

' ii*l cii ke1c Lcc"i,w cl',lcl 1T 

• . q,)çç jj 

Which is the longest Railway platform in India? 

A. Gorakhpur B. Kollam 

3dj1I -uIdi 1rr ii d1c1i.ii lidi 

. 22 July L 21 August— 

International Yoga Day celebrated on 

A. 22 July B. 21 August 

i. 16th April 1853 . 17th April 1851 

First train started in India 

A. 16thApril  1853 B. l7thApril 1851 

44)  

45)  

46)  

47)  
T. 6'ApriI 1853 Er. 16thApriI 1854 

C. 6th  April 1853 D. 16th April 1854 

48)  

cj T. 1' 1i Er. cIi 

C. Air India D. Tejas B. Jet Airways 

3T31T 1E1 i5T l'ic1 

50) • foiR 

Select the odd one 

A. Kingfisher 
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Er. 22 M 

42) 

43) 

1. 26 tr.29 

C.26 D.29 

T. iSdij( 

C. Kharagpur 

T. 21 June 

C. 21 June 

. qw EWT 

B. Param Veer Chakra C. Padma Bhushal 

Er. 

D. Sachin Tendulkar 

Er.R9 

D. Bharat Ratna 



t 10 't'Li'A 12 d4u:t cc1j 3Th  10d4i. 12 '4l )t4c1I ?ft I?bçi1i ff1 c4d1IcjI 

ri. 35% IL 36% T. 75% Er. 50% 

A shopkeeper purchases 12 balloons for Rs.10 and sells them at 10 balloons for Rs.12 Thus he earns a profit for: 

A. 35% B. 36% C. 75%    D. 50%  

tci 4T 1-ii 50% zI ir 1ii cr1rr n 

. 125% IL 100% JT. 75% El. 50% 
52)  

If the radius of a circle is increased by 50%, then the area of the circle is increased by 

A. 125% B. 100% C. 75% D. 50% 

AM4, c~,c11 

tg q*j-i el)Mi r cpi cid1 Tl qTT 

53) 

. 121?,ci IL 13f~,i T. 13.5laci Er. 13.75l 

A alone can complete a work in 16 days and B alone in 12 days. Starting with A, they work on alternate days. The total work will be completed 

in 
A. 12 days B. 13 days C. 13.5 days 0.13.75 days 

68 ¶1T1II ii 3TT 269 31 T 1 rr I El lR * 67 fiifr 1b'qi 71Zff jçlc1 dii7 

i. 0 IL 3 r. 2 Er. 

54) A number divided by 68 gives the quotient 269 and remainder zero. If the same number is divided by 67, the remainder is 

B.3 C.2 0.1 

 

3TRT iflj 31 tsi3 3MTh1 3:2 3ft fFCl'I tfkf 20 ft. , f 3T lt 

ZT• 24cm2 IL 48cm2 T. 72cm2 Er. 96 cm 

If the length and the breadth of a rectangle are in the ratio 3:2 with its perimeter as 20 cm, then the area of the rectangle will be 

A. 24 cm2 B. 48 cm2 C. 72cm2 D. 96 cm2  

rr dIl? 

55)  

,'kci , 60% iicpiit IT1 cp'i.cl , 30% - iici, ,i11 fII q'(I 31t 15% G11 1R 511 C4'c3 , 31R 

96 1' i 3mTT , ft 1hciii ( 'Idi t5T;r 

56) 20 IL 24 'T. 26 Er. 28 

In a hotel, 60% ha vegetarian lunch while 30% had non-vegetarian lunch and 15% had both types of lunch, If 96 people were present, how 

many did not eat either type of lunch? 
A. 20 B. 24 C. 26 0. 28 

'i*l T [T 5T   18 'kk{ 3P 14 4k't tlT FT 3TrZTT 3 sflii T 'iciciI 

57) 
ZTT. 49cm2 IL 154cm2 T. 378cm2 Er. 1078cm2  

The area of the largest circle, that can bs drawn inside a rectangle with sides 18 cm by 14 cm, is 

A. 49cm2 B. 154cm2 C. 378cm2 D. 1078cm2  

tijt 1 1 lR 2 t 11 3 I5 3 T iii I Iici lR 24 Et dii? 

58) 
78 IL 136 T. 156 Er. 196,' 

A clock strikes once at 1 O'clock twice at 2 O'clock thrice 3 O'clock and so, on. How many times will it stilkes in 24 hours? 

A. 78 B. 136 C. 156. D. 196  

1 50 1'c1c1i prime 4R! 

59) 

. 8 IL 12 T. 15 Er. 10 

The prime numbers between I to 50 are: 

A.8 B.12 C.15 0.10 

0.8693 + 0.092 + 0.87 + 0.4 11I i'u'i. 

60) 
T. 2.3213 IL 2.2331 T. 3.2313 El. 2.23 

The value of 0.8693 + 0.092 + 0.87 + 0.4 equals: 

A. 2.3213 B. 2.2331 C. 3.2313 0.2.2313  
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51) 



B.604 

. 302 604 

LCM of 18,24,42,63 is 

A. 302 

63)  

3   tffE dj
,
uICl1l T5T 3T cl- 1I c1 ? 

. 3 L 9 

The average of first five multiples of 3 is 

A. 3 B. 9 

64)  

tr 3 1?ci1 Z151 31T w-iiii 27°C 31t 3T'T 3 ci1' iF 29°C 31T t1 iit r 31T 28.5°C ?F,aii11 1r r 

CiPidliGi ZFT ? 

.-31.5°C . 10.5°C uT. 21°C Er. 42°C 

The average temperature of first 3 days is 27°C & of the next 3 days is 29° C. if the average of whole week is 28.5°C, the temperature of 
last day is 

A. 31.5°C B. 10.5°C C. 21°C D. 42°C 

65)  
tr. Rs. 120 

D. Rs. 120 

500 fv ZT 5% i 6 '(1 f  11RUT 'iI,1 Ihc1cii ? 

Zi. Rs. 250 L Rs. 150 T. Rs. 140 

The simple interest on Rs. 500 for 6 years at 5% per annum is 

A. Rs. 250 6. Rj.50 C. Rs. 140 

68)  

IcdAId1 31TZlT d.I 16 ''u) 700 .1Tf 'f fbaic T ? 

. Rs. 11.20 &. Rs. 12.10 uT. Rs. 9.80 

If the value of the one kg Potato is Rs. 16, then the cost of 700 gram is 

A. Rs. 11.20.Z B. Rs. 12,10 C. Rs. 9.80 

70) 

10%, 20% 3 40% Ef -4 E1T 1ci'i i 'I'( I~'cI1I c1I ? 

Eli. 50% -. 70.28% urr. 70% Er. 56.80% 

A discount series of 10%, 20% & 40% is equal to a single discount of 

A. 50% 2 B. 70.28% C. 70% D. 56.80% 

1485 31t' 4356 Z1iT 'I' 1IcHlG1 cJItCP [HCF] 

18,24,42,63 19f 3UT 1.1ciIf1c1' [LCM] 

62) 

iM  352 cf?C 3TF ñ, 1cPI 4'e m 1' c1ciI c1l ? 

66'	
9856 . 8956 T. 6589 Er. 5986 

The circumference of a circle is 352 metre, then its area in m2  is 

A. 9856 B, 8956 C. 6589 0. 5986 

F Titq, 14 r 3jgIcj 9:1 t,ic' d1IL 5T 31c4Ict fbd1I? 

67)
9:1/

.
7F. 3:4 

The rao of the areas of two squares is 9:1, the ratio of their perimeters is 

A. 9:1 B. 3:1 C. 3:4 

cpUq1 
' 20 1C41 Z5T 3ThT9' cçfrI . T1 1900 5T Cçfrf 1Z1T lTT1 ft 3*1c11 V 

2000 3IT d1i. EliT c)ci1 ERIT ? 

69) 
Eli. Rs. 24000,> . Rs. 25200 uT. Rs. 45600 Er. None 

— The average salary of 20 workers in an office is Rs. 1900 per month. If the anager salary is added, the average becomes Rs. 2000 per 

month. The Manager salary is 
A. Rs. 24000 B. Rs. 25200 C. Rs. 45600 D. None 
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61)
T. 189 

HCF of 1485 and 4356 is 

1 A.189 

r. 89 ii. 99 Er. 83 

B.89 C.99 D.83 

C. 12 0. 15 

ET. 1:3 

D. 1:3 

Er. Rs.11.00 

D. Rs.11.00 

7 504 

C.504 

r. 12 

Er. 404 

Er.15 

D.404 



79)  

B. Numismacs 

IL Numismacs 

Study of Environment 

Ecology 

Study of Environment 

A. Ecology 

1T. Vegetarian Er. Penology 

C. Vegetarian D. Penology 

80)  
T. Incorrigible Er. Inimitable 

C. Incorrigible D. Inimitable 

Somebody who is considerably experienced in something 

EF. Indispensable IL Veteran 

Somebody who is considerably experienced in something 

A. Indispensable B. Veteran 

The opposite of the word 'Sympathy' 

Apathy IL Pride 

The opposite of the word 'Sympathy' 

A. Apathy B. Pride 

A speech delivered without any previous preparation 

Zl. Extempore IL Ethnology 

A speech delivered without any previous preparaon 

A. Extempore 

Misappropriation of money 

'iT. Egotist 

Misappropriaon of money 

A. Egotist 

A study of man 

T. Amphibian 

A study of man 

A. Amphibian - 

75)  

76)  

C. Anthropology D. Haematology 
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77)  

78)  

T1. Angry 

C. Angry 

T. Etymology 

C. Etymology 

T. Elucidate 

C. Elucidate - 

El. Pity 

Er. Exonerate 

D. Exonerate 

Er. Embezzlement 

D. Embezzlement 

T. Anthropology Er. Haematology 

B. Ethnology 

IL Edible 

B. Edible 

IL Anonymous 

B. '"Anonymous 

D. Pity 

There is book on my desk 

i. an L a J1. some El. None 
71)

There is book on my desk 

A. an B. a 

You study English 

. Used to . Is used to 
72)

You study English 

A. Usedto B. lsusedto  

C. some D. None 

T. Another Er. None-' 

C. Another D. None 

        

73)  

Find out the wrongly spelt word 

Zealous . Committee 

Find out the wrongly spelt word 

A. Zealous B. Committee 

JT. Souvenior 

C. Souvenior 

Er. Allotted 

D. Allotted 

 

The price of petrol is higher than 

diesel IL the diesel T. of diesel Er. that of diesel 

74) The price of petrol is higher than 

A. dies& B. the diesel C. of diesel D. thatof diesel 



81) 

D. So quickly 

Er. So quickly T. Quickly 

C. Quickly 

E1. Quick . So quick 

He ran  

A. Quick B. So quick 

several medical test 

82) 
Er. Into 

D. Into 

T. Through 

C. Through 

several medical test 

B. About 

. About 

The doctor advised him to go 

Under 

The doctor advised him to go 

A, Under 

83) 
7 F. For Er. Since 

last year 

. From 

last year 

B. From 

I have been working hard 

.ln 

I have been working hard 

A. In C. For D. Since 

He ran 

I shall take revenge you 

li. At . On T. With Er. from 
84) 

I shall take revenge you 

A. At B. On C. With D. from 

My first lesson forgiveness came from my father 

On . In T. About Er. Upon 

My first lesson forgiveness came from my father 

A. On B. In C. About 0. Upon 

. Outward 

B. Outward' 

Synonym of "Conjecture" 

Grave 
87)  

Synonym of "Conjecture" 

A. Grave' 

88)  

B. enough 

T. great Er. scant . enough 

Antonyms of "abundant" 

. ample 

Antonyms of "abundant" 

A. ample' C. great D. scant 

89)  

B. At a distance D. Very near 

. At a distance Er. Very near 7r. Insult 

C. Insult 

Idioms - "At arm's length" 

. Length of arm 

Idioms - "At arm's length" 

A. Length of arm 

90)  

B. Pregnable 

. Pregnable 

One who talks too much 

zr. Quite 

One who talks too much 

A. Quite 

r. Illogical Er. Garrulous 

C. Illogical D. Garrulous 

A disease or accident which ends in death? 

Fatal . Drawn 

86) 

A disease or accident which ends in death? 

A. Fatal B. Drawn 

'r. Fastidious Er. Illegal - 

C. Fastidious D. Illegal 

T. To Guess Er. To claim 

C. To Guess D. To claim 
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85) 



1ii Id T'T 3TtITT tT JicU TETi ? 

. 5 . 10 it. 15 Er. 20 
91)

How many ways can a batsman lose his wickets? 

A. 5 B. 10 C. 15 D. 20 

fd-c11fTd kr4'i cc1 fT I 9 ? 

Which of the following states of India has the longest coastline? 

A. Kerala B. Gujarat 

Ti. Kerala Gujarat 
92)  

JT. Tamil Nadu Er. Andhra Pradesh 

C. Tamil Nadu D. Andhra Pradesh 

t 4cfl I 

93
. 1 .. 1c 

    

T. 1Ilia1 tr. 

 

 

The mineral structure of diamond is 

A. Zinc B. Nickel C. Nitrogen D. Carbon 

 3Blt 

. fi.iai . r. thtrr- Er. ihic- 
94) 

Urea supplies  to the plants 

A. Calcium B. Phosphorus C. Potassium D. Nitrogen 

,OII r ci*&i cH.H [ jc1dI 

95)
What causes cholera?

. JT. tJ1 Er. 

A. Bacteria B. Virus C. Fungus D. Algae 

96) Z1. s . rw 

Which of the following is different from others? 

A. Speed B. Time  

L I1 -c1 Er. 

C. Density D. Force 

-
3flT rr TU 3T1t 4'r JlIG  ck4) C1t('~I t I1-R c fv qcu c 

    

T. i'k14Id'& Er. 3i1' . [. 

 

 

97) 

A device used to stabilise the voltage supplied by electric supply station is 

A. Dynamo B. Generator C. Transformer 

   

D. Ammeter 

            

ITT t1T 39 -I-1'I c 31T? 

li & 

98) The first atomic power plant was started in India at 

A. Narora B. Tarapur 
jcj 
 r lc1 Rrr ? 

F. fI1c1 

99)  

The chief source of energy is 

A. Vitamin B. Minerals  

T. 1T tI1c1 Er. iI 

C. Rawat bhata D. Kaiga 

JT. Er. i.ii,4) 

C. Carbohydrate 0. Water 

'41?, Ig1 3fr 5cr ig1I tTf EII'r tT ZITft ft dlv. tT CP'G1 cpld{ c4cil 

cP.T i  3Tc2TT Tr r iIT yoRrr 3TM lci Er2  'UY4 rar 

100) In case the posts of President and Vice-President lie vacant, who officiates as the President? 

A. Speaker of the Lok B. Chief Jusce of India C. Attorney General of 
Sabha India 

D. Chairman of Rajya Sabha 
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